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BIFEEA S DR

No.|  fEEEE Az MER | B | xR A (1 Sv/8%) (mSv/%) ERFD0870mSw/F) EOE
No. Al E 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm 1m
1 |BESR 0.07 0.07 0.07 0.37 0.37 0.36 | FHUT |FHLUT [FHUT
1 BEREM EBE—TH1%E265 128168 | 1310 2
2 |HARA 0.08 0.08 0.07 0.42 0.44 0.38 |TFHLUT [FHLUT |FHUT
1 |BESR 0.06 0.06 0.06 0.32 0.33 0.32 | FHUT |FHLUT [FHUT
2| FREREM F{EET5E315 128178 | 945 | B
2 |HARA 0.08 0.07 0.07 0.41 0.39 0.36 |TFHLUT [FHLUT |FHUT
N . 1 |EESR 0.07 0.06 0.06 0.35 0.34 0.31 [FFHLUT [FHLUT |FHUT
IERAREM ’fﬁiﬁfﬁ%?mgm 128178 | 13:45 | B
PR 2 |HAQD 0.07 0.06 0.06 0.35 0.32 031 |TFHLUT [FHLUT |FHUT
_ 1 |ERERR 0.06 0.06 0.06 0.34 0.32 0.32 | FHUT [FHUT [FHUT
4/MUBRER  [/MUBZTHIEI® 128178 | 16:35 | BE
2 |HARA 0.08 0.08 0.07 0.44 0.44 0.39 |TFHLUT [FHLUT |FHUT
_ 1 |ERERR 0.06 0.06 0.05 0.29 0.32 0.28 | FHUT [FHUT [FHUT
5|fEERIRB AT e FESHE]16E 128178 | 1315 | B
2 |HAQD 0.06 0.06 0.06 0.29 0.31 0.29 | FFHUT |FHLUT [FHLUT
_ 1 |EESR 0.07 0.07 0.07 0.36 0.37 0.35 [TFHUT [FHLUT |FHUT
6(ILOREFT WARTH2®1S 12A16H| 1635 | £
2 |HARA 0.08 0.07 0.07 0.40 0.38 0.36 |[TFHLUT [FHLUT |FHUT
_ = 1 |EESRR 0.06 0.06 0.06 0.33 0.31 0.32 | TFHUT [FHLUT [FHLUT
THERRER ER_THB8ESS 128160 | 1335 | £
2 |HAO 0.07 0.07 0.07 0.36 0.36 037 [FFHAUT [FHLUT |FHUT
_ 1 |EEHR 0.08 0.08 0.08 0.42 0.40 041 | EHLUT |FHLUT [FHUT
8| IREFR R ZTE5%E6E 128178 | 16:10 | K&
2 |HAO 0.09 0.09 0.09 0.49 0.48 047 |FFHAUT [FHLUT |FHUT
1 |BEESR 0.07 0.07 0.07 0.37 0.37 0.39 |TFHUT [FHLUT |FHUT
9|IFILIREFT W5 1L BB 3 Hh 1 Ftth2 128168 | 1405 | £
2 |HAO 0.08 0.08 0.07 0.40 0.40 0.36 [TFHUT [FHLUT |FHUT
_ - 1 |ERIRS 0.07 0.07 0.06 0.36 0.36 0.33 |FHLUT |FHLUT |FHUT
10| HEHREM HEZFRFE148FM |12A16H | 1500 | £
2 |HBAO 0.07 0.06 0.06 0.35 0.33 0.32 [FFHUT [FHLUT |SFHUT
1 |BEESDR 0.06 0.06 0.05 0.31 0.32 0.27 | FHUT |FHLUT [FHUT
11| EREM g E146E#1 (128178 915 | B
2 |HBAO 0.06 0.06 0.06 0.32 0.34 0.32 [FFHUT [FHLUT |SFHUT
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M BT RER e ol FMERMARED
No. e AR AER | B | xE i (u Sv/B¥) (mSv/ %) R (0.870mSv/ ) EDE=
No. =4 5cm 50cm im 5cm 50cm im 5cm 50cm im
1 |EESR 0.07 0.07 0.07 0.39 0.39 0.37 | FHUT | FHLUT [FHUT
14|ERFREE [[REIF IS 128180 | 845 | W
2 [HAO 0.07 0.07 0.07 0.37 0.36 0.35 [ FHUT [FHLUT | FHUT
1 |EESR 0.05 0.06 0.06 0.28 0.29 0.29 |FHUT | FHLUT [FHUT
15| EHRER BRABE1BS 128180 | 9:07 | B
2 [HAO 0.06 0.06 0.06 0.31 0.34 032 [ FHUT [FHLUT |FHUT
. 1 |EERR 0.06 0.06 0.06 0.32 0.34 033 [TFHLUT [FHLUT |FHUT
16|WVTFHREEE |EE2=-TH6E6S 128178 | 1225 | B
2 [HAO 0.06 0.06 0.06 0.34 0.32 032 |[TFHUT [FHLUT |FHUT
1 |EESR 0.06 0.06 0.06 0.29 0.29 031 |FHUT |FHLUT [FHUT
17| FAIREE FRETEMEN14FH11 | 128178 | 1410 | B
2 [HADO 0.06 0.07 0.07 0.33 0.37 0.35 [ FHUT [FHLUT |FHUT
2 1 |EESR 0.06 0.06 0.06 0.34 0.34 0.32 | FHUT |FHLUT [FHUT
18 ff!‘i’lé‘; EHA2E 152 128168 | 1705 | ™
o 2 [HADO 0.07 0.07 0.07 0.35 0.35 0.35 [ FHUT [FHLUT |FHUT
1 |EESR 0.07 0.06 0.06 0.36 0.33 0.34 | FHUT | FHLUT [FHUT
Y/NEEYHE |[EE—TH2H14S 128178 | 10:15 | B
2 [HADO 0.06 0.06 0.06 0.33 0.34 034 | TFHUT [FHUT |FHUT
spen— L 1 |EESR 0.06 0.06 0.05 0.32 0.31 0.27 | FHUT |FHLUT [FHUT
20 E;a%ﬁj FHET =T H3%E262 128168 | 17:30 |
= 2 [HADO 0.06 0.06 0.06 0.31 0.32 033 | FHUT [FHUT |FHUT
1 |BEESR 0.07 0.07 0.07 0.39 0.37 0.36 |TFHUT [FHLUT |FHUT
2| F VSR |hEEhaFE20E 128178 | 15:50 | B
2 [HAO 0.08 0.08 0.08 0.40 0.42 0.40 |[TFHUT [FHLUT |FHUT
s — e 1 |BEgEDx 0.06 0.06 0.06 0.33 0.33 0.33 | FEHLUT |FHLUT [FEHUT
22 j;%ﬁh&& FE-TH6E6S 128178 | 1245 | B8
Sk 2 [HAO 0.06 0.07 0.07 0.29 0.37 0.36 [ FHUT [FHUT |FHUT
B 1 |EESR 0.06 0.06 0.06 0.32 0.32 032 |TFHLUT [FHLUT |FHUTF
12|FE&RER XREME32%FM#20 | 128178 | 11:05| £
2 [HAO 0.09 0.08 0.08 0.45 0.44 041 |[TFHUT [FHLUT |FHUT
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5 BRI e ol FRHERRSHRED
No. MEE% 4 FTTEHE AER | B | xE (1 Sv/B¥) (mSv/ %) R F 15 (0.870mSv/E) LD =
No. =4 5cm 50cm im 5cm 50cm im 5cm 50cm im
1 |EESR 0.07 0.07 0.07 0.38 0.38 0.35 | T |FHLUT [FHUT
13|/ NEREFR INEIE 2040 E32F#3 | 128178 | 10:00 | B
2 [HAO 0.08 0.09 0.08 0.44 0.45 043 |[TFHUT [FHLUT |FHUT
- - 1 |EESR 0.08 0.09 0.08 0.43 0.45 043 |FHUT | FHLUT [FHUT
B EERELE =EMT B1%405 128178 | 1523 | B
2 [HAO 0.07 0.07 0.06 0.37 0.37 034 |[TFHUT [FHLUT |FHUT
1 |EESR 0.07 0.07 0.07 0.38 0.38 0.38 |FHUT |FHLUT [FHUT
24| EXRERE EXE2hE1Hh 128178 | 1445 | B
2 [HAO 0.07 0.07 0.07 0.38 0.36 037 [ FHUT [FHLUT | FHUT
1 |EESR 0.06 0.06 0.06 0.32 0.32 0.34 | FHUT | FHLUT [FHUT
25| HERELE HEF/PK131E 2 128168 | 1435 | £
2 [HADO 0.06 0.06 0.05 0.33 0.34 028 |[TFHUT |FHLUT |FHUT
1 |EESR 0.06 0.06 0.06 0.33 0.33 0.33 | FHUT |FHLUT [FHUT
26| AR IRELE At E16thEl63F#m2 | 128168 | 1605 | £
2 [HADO 0.08 0.08 0.08 0.43 0.40 042 | FHUT [FHLUT |FHUT
1 |EESR 0.07 0.07 0.06 0.37 0.36 0.34 | FHUT | FHLUT [FHUT
27| NN REEE JNRESHE| 4% Hh 128178 | 10:40 | K&
2 [HADO 0.06 0.08 0.07 0.34 0.40 037 [ FHUT [FHLUT |FHUT

X1 1FROHEFEREEICOVTIE, TEEFHRUVEERICKYVERL LT,
AFHUTRITA
SRIELI5ATIC B8k, EDHEFDAEREIC1 B 16K HIEHHD ERE
-RERBRREICS T DEIEEBHINIRE60% ((2300.4) &{RE

W EROBEREFHITIEDHER]
FRHEE (mSv/&FE) =BIZENE (1 Sv/FF) x (8BFfE +0.4 x 168FfE) x 365H <1000
=;BIEE (¢ Sv/B) X 5.256
¥ 1mSv (3YY—A"ILk) =1000 ¢ Sv(I4909—A"IL})

X2 SRV D B AKSHRICE S ERMIRIEICEDH R FHEIX08TmSV/ FETHS.
(FHBEHR:0.39mSv/F . KR :0.49mSv/ &, =1 LIF U EDRABII KR VBRI LD REHIL<ZERR
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